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Reading Comprehension
Direction: Read the following eight passages and answer the questions by choosing
| the best choice among (1), (2), (3), or (4). Then mark the correct choice on your

 answer sheet.

Passage 1:

Electricity’s green roots run deep, starting with one of its earliest applications: the
incandescent lamp. The lamp was a welcome advance, and not just for its light. In 1893,
architect Frank T. Lent described electric incandescent light as “the acme of all methods of
lighting... never impairing the air in a room.” Electric light was a clean, safe alternative to the
gas that was being used to light businesses and homes. Gas was sooty, consumed oxygen, and
released carbonic acid into the air, damaging books, curtains, and carpets.

“Smoke, ashes, and cinders are unknown because electricity is used now for which formerly
fires had to be built,” novelist Solomon Schindler wrote in 1894. That was not entirely true;
coal-fired stations still generated most of the electricity. Although generating power centrally
back then does nmot qualify as green by today’s standards, it was less harmful to the
environment that the scores of dispersed coal-burning furnaces would have been. In the 19"
century, factories were clustered in cities, instead-as nowadays-outside of them, so clean
power sources were a civic necessity. Steam replaced water power as the primary source of
energy used by industries in the United States and Europe, and that resulted in grimy, smoke-
shrouded cities.

1-  Why was an incandescent lamp considered to be Green in the early days of electricity?
1) Because the lamp was the acme of lighting technology.
2) Because the new lamp consumed oxygen and carbonic acid.
3) Because Gas lamp soot tarnished curtains, books and carpets.
4) Because the lamp replaced lighting methods that polluted living areas.

2- It can be deduced from the text that —--wm-m-- 5
1) Grimy and smoke-shrouded cities are unknown to well developed countries
2) Nowadays smoke, ashes and cinders are unknown because electricity has replaced them
3) Electricity generation was not necessarily Green given the fact that it is generated by coal-fired
stations.

4) A century ago factories were dispersed out of the cities but nowadays they are in central urban
areas

Passage 2:

The High Electron Mobility Transistor or HEMT is a form of field effect transistor (FET)
that is used to provide very high levels of performance at microwave frequencies. It offers a
combination of low noise figure combined with the ability to operate at microwave
frequencies. The key element within a HEMT is the pn junction that it uses. It is known as
hetero-junction and consists of a junction that uses different the materials on either side. The
most common materials used are aluminium gallium arsenide (ALGaAs) and gallium
arsenide (GaAs). Gallium arsenide is generally used because it provides a high level of
electron mobility which is crucial to the operation of the device. On the other hand Silicon has
a much lower level of electron mobility and that is why it is never ased in a HEMT. There are
a variety of different structures that can be used within a HEMT. However, they all basically
use the same maaufacturing processes.

3- An HEMT transistors offers --—--—--—- )

1) low noise 2) high power
3) operate at microwave frequency $H1&2
4-  Gallium arsenide is generally used in a HEMT transistor since -=-s----- 5
1) it can not form a pn gunction 2) it has a high level of electron mobility

3) it has a low level of electron mobility 4) Si has a high level of electron mobility
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Passage 3

For fault-finding you must have at least a multimeter, either analogue or digital. An
oscilloscope is not absolutely essential but you will find yourself very restricted without one.
It’s like trying to repair a car while wearing a blindfold. For audio equipment, a signal source
is needed, Clearly a function generator is useful but simpler and cheaper alternatives work
well in most cases. You only need a fixed frequency source, say 400 or 1000Hz sine or square
wave. For cassette recorders a tape with a constant 400Hz wave recorded on both channels is
adequate for most fault-finding. However, for checking playback levels and frequency
response and aligning the tape head, proper test tapes, which are expensive, are required. For
serious work, a collection of test leads and audio connectors is essential. Most modern audio
equipments use Phono sockets so it’s worthwile investing in cables witch terminate in phono
pugs. For other types of sockets, adaptors are available.

What is a less complicated and less expensive alternative for a function generator?

1) Signal source. 2) A fixed source.

3) Audio equipments. 4) Fault-finding test tapes.

What are phono sockets associated with?

1) Adaptors. 2) Tests leading to audio connectors.
3) Cables which lead to phono plugs. 4) All of the above.

Passage 4

Industrial automation spans a huge spectrum of complexity in terms of both the physical
structures of machines and the tasks that they perform. This has led to an equally wide range
of control system hardware and software building blocks. The general lack of standardization
between different control system components makes industrial control systems difficult to
maintain, modify and integrate. This has encouraged users to go to a single vendor for all
their machine control needs in order to minimize such problems. The dominance of closed,
vendor specific solutions have generally resulted in stagnation rather than innovation and
improvement in control systems.

Which of the following does the author NOT list as a characteristic of “industrial automation”
that would result in difficulties in control systems?

1) Novelty. 2) Complicacy.

3) Lack of uniformity in parts. 4) Difficulty in making changes.

There is information in the passage to support which of the following conclusions?

1) The vendor dependency has slowed down enhancement in control systems quality

2) The adoption of better design approaches is severely handicapped due to lack of knowledge

3) The components are usually selected on a performance basis rather than vendor dependency.

4) The machines consisting of suitable combinations of system hardware and software are easier to
improve.

Passage 5

The MASSPOWER project and its development represents a future model for how power
generation projects may be put together in the new competitive energy arena in the United
States and in many countries throughout the world. Gone are the days when electric utilities
built large central generation stations on a cost-of-service basis as the only alternative to
providing electric power and gone also are the early days of cogeneration when thinly
capitalized entrepreneurs obtained power contracts while working out of their suitcases. The
advent of formal competitive bidding programs as the way of supplying new electric power
has expedited the maturing of the non-utility power generation industry. The survivors of the
inevitable consolidation we are currently witnessing, will need to take considerable market
and financial risk before reasonable assurance can be obtained about a project’s success.
MASSPOWER was one of the first projects to be developed in this new climate and to have
such a significant amount of development capital put at risk. Understanding its development
process can help us understand what it will take to be successful at profitably building power
plants in the future,
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The author believes that those interested in the Masspower project ~-ew—m-,
1) have accepted its financial risk
2) do not fully understand its difficulties
3) are thinking of finding way to ensure its success before building power plants
4) have accepted that power generation based on cost of service is a good alternative to Masspower
generation

The passage provides information that would answer all of the following question EXCEPT --

——————

1) what is considered on inviting program?

2) what does the author think of large central power stations?

3) does Masspower project present a positive competitive energy activity?

4) does the author suggest the Masspower project as the only alternative to providing electric
power?

We may conclude from the passage that -
1) the project initially conceived should be centered around important factors

2) masspower project will be of little saccess unless profitable power plants are developed

3) if all the details of the development process are digested, the Masspower project can be a saccess
4) the entrepreneurs should have the required knowledge and skills to plan inproved strategies

Passage 6

The beauty of three-dimensional graphics packages used by engineers and scientists is that
viewer can not only see an image in depth from different angles but can also manipulate it
with software. The resolution of the image, however, is limited to the resolution of the
graphics program, or of the screem on which the graphics are viewed, which is typically
megapixels at most. Holograms, on the other hand, can contain terapixels of data and are
inherently 3-D. But because these holographic images are fixed in the holographic film, the
viewer cannot manipulate the image or interact with it, except to view it from different angles.
But now, a research group at the Bauhaus University in Weimar, Germany, has developed a
method for combining the intéractivity of computer graphics with the data richness of the
hologram by superimposing the holographic image and the 3-D graphics image. To
understand how the Bauhaus University’s method works, consider how a hologram is made
and how it re-creates a 3-D image of an object. To make a hologram, laser light is split into
two light waves that are initially in phase. One of waves illuminates the object to be imaged,
and the light reflected from the object travels to a holographic film. The second light wave,
the reference wave, falls directly onto the film. Because the distance that the first light wave
travels varies according to where it strikes the object, it will generally arrive at the film out of
phase with the reference wave. The amount by which it is out of phase depends precisely on
where it strikes the object.

The two-out-of phase light waves create an interference pattern on the film. And this
interference pattern contains all of the information needed to re-create a high-resolution
image of the object when a third light wave strikes the hologram at the same angle as the
reference wave that helped to create it. In most holograms, white light, typically from a
halogen bulb, rather than laser light, is used to re-create the image. To create the
superposition of the two images, Bauhaus University researchers mainly use three pieces of
equipment: an autostereoscopic display, which allows viewing of 3-D graphics without the use
of special glasses: a white-light hologram; and a digital projector, such as one used to display
presentations stored on a computer onto a large screen.

The autostereoscopic display shows images of 3-D graphics through a plastic sheet of tiny
lenses that direct a different image to each eye. The holographic film is directly attached to
the front of the display screen. When the digital projector illuminates the hologram, the re-
created 3-D images from the hologram and the display appear to the viewer in the same
volume of space. The power of the technique comes from the ability to control the direction
and intensity of the light from the digital projector, and thus to control which parts of the
hologram are re-created and which are not.
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What is the difference between a 3-D image and a holegraphic image?

1) The former image is limited to the graphics program while the latter is interactive

2) A 3-D image is limited in resolution while a holographic image can contain terapixels of data.

3) In the former the image has depth and can be manipulated with the help of a software while in
the latter the image is fixed

4) All of the above

What has the research group at Bauhaus University achieved? A Method --—ewemem-
1) to recreate a 3-D image of an object

2) to manipulate the holographic image

3) for combining the interactivity of computer graphics

4) to superimpose the holographic image and the 3-D graphics image.

What is meant by the reference wave?

1) Laser light

2) The light wave that falls directly onto the film.

3) The third light wave that strikes the hologram.

4) The light wave that illuminates the object to be imaged.

What are the principal tools used to create the image discussed in the passage?
1) An autostereoscopic display, tiny lenses, and a digital projector.

2) An autostereoscopic display, a large screen, and a digital projector.

3) An aoutostereoscopic display, tiny lenses, and a digital projector.

4) An autostereoscopic display, a white-light hologram, and a digital projector.

Passage 7

Most current commercial packages for harmonic analysis use a direct solution method
whereby a harmonic current source, specified in advance, it injected into the linear network
to determine the voitage and current distortion levels. This approach provides realistic
frequency domain models of the linear ac system. However, 2 harmonic current source is
usually an oversimplified model of the non-linear plant. The overall solution for twelve pulse
converter test'system depends not only on the system voltage source, current scurce and
impedances, but on converter variables such as controller characteristics, firing angle
coastraints, etc. Iterative techniques are thus necessary to solve all these variables together to
reach a final correct solution. In the harmomnic models of ac-de system available in the
literature, the emphasis is on the solution technigue, with a clear trend towards the Newton
method. In comparison, the question of model accuracy has been given very little attention
and some early models are still superior to those recently described.

Under realistic conditions, the switching insiant of the bridge valves are not eqaispaced
over one cycle due to converter action. The incorporation of switching angle modulation in the
converter model permits an accurate derivation of the individual switching instants; their
effect on transfers between the ac and dc system must be quantified, and ail causes
influencing the medulation must be accounted for. An early cause of firing angle modalation
was the use of individual firing control.

Which method is used in commercial packages for harmoric analysis?

1) Iterative solution.  2) Direct solution. 3) Indirect solution. 4} Injection solution.
For what kind of system does the direct solution methed provide realistic frequency domain
models?

1) Linear ac systems. 2) Linear d¢ systems.

3) Non-linear systems. 4) Linear ac and dc systems .

Which of the following items does the overall soluiion for twelve-pluse converter (esi system
depends on?

1) Converter variables 2) System voltage sources

3) Current sources and impedances 4) All of the above

Which technigaes are important to solve for variable such 25 conivoller charasterisiics and
firing angle constrainis?

1) Direct sclution. 2) Newton’s method. 3) Indirect solution. 4) Tterative techniques.
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20- What was an early cause of firing angle modulation?

1) The use of frequency control. 2) The use of individual firing control.
3) The use of impedance variable control. 4) The use of harmonic current source control.
Passage 8

Factors associated with the scaling of CMOS technology such as reliability and density are
driving down supply voltages. Furthermore, the rapid growth of protable applications
promotes battery operation which favers low voltage and low power circuits. As a result,
many suggest that future implementation of mixed analog-digital circuits using standard
CMOS will have power supplies of 1.5 V or less. Communication large-scale integrations
(LSI’s) are predicted to be the target. Threshold voltages of future standard CMOS
technologies may not decrease much below what is available today. This poses a great
challenge to CMOS analog/mixed-signal circuit design. Consider the standard push-pull
CMOS amplifier/inverter and transmission gates. These circuits require the analog power
supply to be at least equal to the sum of the magnitudes of the n-channel and p-channel
thresholds. Probably the most important selution to the threshold voltage limitation is the
bulk-driven MOSFET. The gate-source potential is taken to a de voltage that is sufficient to
turn on the MOSFET. The drain is connected normally and the signal is applied.

Between the bulk and the source The current flowing from the source to drain is modulated
by the reverse bias on bulk-channel junction. The result is a junction field-effect tramsistor

with the buik as the signal input gate. Consequently, a high-input impedance depletion-mode
device results,

21- What factors are the driving forces for rednced supply voltages of CMOS?
1) Device density. 2) Device reliability. 3) Hybrid technology. 4) Both 1 and 2.
22- What can be predicted as the great challenge in designing the analog circuits?
I} Low power CMOS.
2) Threshould voltage.
3) Mixture of analog and digital blocks .
4) Portable instruments and battery using capability .
23- The threshold voltage of standard CMOS technologies ---
1) need not change at all
2) would be reduced drastically
3) will have to decrease tc meet the current challenge
4) may not decrease much below what is available today
24- What is the most viable solution for the threshould voltage limitations?
1) Using BJT or JFET.
2) Further consumption of nMOS in output.
3) Applying signal to bulk instead of the gate.
4) Applying signal to the source instead of the gate.
25- Taking the gate-source potential to a de voltage sufficient to turn on the MOSFET, connecting
drain normally and applying the signal between the bulk and the source would result in ~—---—-
1) low-input impedance depletion-mode device
2) high-input impedance depletion-mode device
3) low-input impedance enhancement-mode device
4) high-input impedance enhancement-mode device




ww\wRedowmtoadT

o> el oy

(1)seasplal

Olpt Al S 4aar
sy Olidos pale Sy
3355 sl o Dl

oA s <o (ekio) o
A Q)| o ) A
e e R

295 peel eflaa 392 sl ity 1

IR 3

1AL S

&'é w 3.3!3 KW )‘ wm )“@hb 399

O gwngo 45 90%0
(1Y0 ws)

Y13 0 3o 9 ON0n 1§ 33 pwifps AR game iy ( Slondiel 319

R O R SR R R A DR K R D SR ORI -

Zh._—lb,": L;;I,:Ls- r\iJ tSE

R RO OO 0TIV AR DHTIHM A FOD

oyloli G [3\P¥-5] J1ae oliad txiol Slgas oy
\¢) \t4 Yo obualy]
0 \¢d Yo Yol oSS slaylal ¥

1YAF Jl olo st

[P |
[P
(R




WWV

1 L L
v Redowrtoad it

) axivo
' sl
feeal ol YXYAX+ (X" = )Y = 0 Jynne Jouil iy Uolao iy
=X v
Y—\ i Y=X —yx+\ (¥ y= i\ y=x"+c ()
-x V-X
dy d dy d
T T Tt y = e Sl iy 35 A 0 el o
Y -X x' -X x"
(cy +cyx)"e +—Y;e I\ (c, +c,x)Te™* +—?—e"" Q
Y Y Xr xY
(e +cyx+epx" +cpx +—Y—*—)e X (¢ (e +eyx +cpx” +cpx” +W)e_x e
d'x + dx fx
—_— s —— =o0
Bl g J1S aliune wlyr (llyd ) byt as b { gt dt ol a5 4yl Ik aliune
X(0) =X, ,x'(c) = v,
Vo =YX, (% Vo ==YX, (¥ Vo =—X, (¥ Vo =X, (A
t
b ol phy o Y(8) o&T y'(t) + Yy(t) + J- y(x)dx =0 3 y(c) =\ 2
et +1t) ¢t el(-t) v et (+1) (v et(h-t)
dx dy _ .
—+Y—+Xx~y=0sint
hYO Sjle o . Y() =0,X() =0 adyl lps 1 - dE Jonly 0 S olae oS3 5
X y _at
Y—+r—+x-y=e
dt dt
fis (g0 ol
ve! —osint+e™ —v (v ¢! —osint+ve™ v
osint—ocost+et +e™ +v (¢ osint+ocost—et —e"t —y¢ (v

yge & o Uil Gl o pi £ a5 Glaasl g0 of b g [ T &l €ald poi g 490 (5pu

H(x)= {‘ 1 X200 T ,sa8 wst £(x) = H(-x) - ¥H(\ - x) + H(*— )

°o,X<o
o0 _\m-y —- hd —y)m- -
£ ~ ) Y=Y cos (M= YTX (v f(x) ~ ZT( e S O
o m(vm —) \ m= (' —Y) A
- m _ ® oo \m-\ -
£(x) ~ 2, L P k)22 P f(x) ~ 2, MV e (MUK
= m(rm —Y) Y mm (M —Y) Y
[ o] .
Sl @y 38 plas I"f(x)sin" XX Jol> il £(x) = Z sm:'x N
o n=y 1
W . AP AL Ao ()
1 A2 A

Ou
(Sl X g 31 ol U) St 113 sloais 3¥ 51 Kpolas cotgx§+u =Y Jawil yisd Wslao Jol5 enrly

g(y)e Y8 4y —cotgx (v f(x)e V" +y—cotgx ()
f(x)e V& + g(y) - cotgx (¥ ce Y 4y —cotgx (v

=Yy

-YA

—Y.




WWV

1 [ -
- Redowrtoad T

Y i ol

EAY

Y
o aolae gyl - " AT Ou _ Qm_ ., Y
30 Wolre (yil yet paf o0 Sl 50 1y (X \)ax‘_ +\'(y+\)axay (x+\)ay'— 32 Olida b Joilyisd (gaiolee

Fouul £93 plaS 51 (Y > 0)X j9m0 SV sa2veo vt
095 ot (¥ oF a1
05 Jelie (i 3 g dsF (ch (oA s (F 095 Jehda (T
\ou 8"
il oy g0 B 50 —5-5t—=§ 3 X>0,t>0 Wy 4 l) Syl Wolre (X>0) dgume dani ol S 50
Sl O yq0 plaS 4 U(X, 1) cadolue gagos fewly ol o @sle X =0 )0 daali g U(X,0) = F(X) 1 ol Sylas andyf

_aYLY Y Y
f D(p)e P © * cospxdp (¥ f’ D(p)eP ® ' sinpxdp ¢\

-p'e't : © -p'c't :
f e [A(p)cos px + B(p)sin px]dp (¢ J'_me P ¢ HA(p)cospx + B(p)sinpx]dp

LA sl iyl g0 15 (StRlg2r 51 S ot gl o 44 5 IS S50 30 ) ol 2397 wadlyi 51

v _I%Z@_,»___‘ > Ay coshkyxsinkpy O
b Y > Ajcoshkpxcoskyy (¥
ﬁ;; i i D (Apcoshkgx+Bsinhkyx)coskyy (v
)2 ‘ \gf > (Apcoshkyx + By sinhk,x)sink,y (F
o V(¢,0)=e a -
) ol gilys £1(0) il U(X,Y) = X+ € €OSY ks Cond b Jlelowi U0 Ky £(Z) 551
(\+e)+i (¢ e+vi (¥ \—-e (¥ e (A

dz
4 b St 5 45 € g o (Sta S 39) S 505 b St sl b X = = gt ot
C

. ¢ 0
b Conl plpadlh o r =y —sin" ‘;o),-c

i (F ywi (¥ o (Y —Ymi
33 ol Sylae Ialike dniuo 43 F(Z) = SIN(SIN Z) @b (59l by yio yué Jol saloxr 99
\J 1 r r
Z Z Z
z+ 2 (f Z4+— (¥ Z+— (¥ z-— (\
Y! Y 1 4
\

Juo Z = 1 dlall Conns 41 20l S X U g Jol @y 0 Y = XV b 50y Z By iS00 5 0y T(2) =€ AP
1 Cowl il 0328 o0 395 F(Z) &5 (5 e 3

s (F — (r A s 0

[SIZ | opt o (shylo b 3 o SIS 9590 33 Copgo ol 33 i3S o Colkicst Canms 4y Z paiia o | Y |22 B (5 b 51
Fewwl Caw yo @ las plas”

S g0 S o 4y g Senl 1S (Y S o Joo Sl 4 ()

IS i oo (55 s 4 Ul a5 (F 5w Jen b 3 Ll ol il 5 (Y

i 40 X byt Jlisl Jify b widl P g B plaSy syl § Jiue lelar 95 Holal glayeice Y 3 X 51
Seal phiS pip P(X=k ,X+Y=m) gn X+Y=m

k¢ (_EM « (m—tkl A —@— Q
" (o =) )

-¥A

-F

-¥Y




WWV

1 L L
v-Redowrtoad it

Y daxio oluwsl

b ol il PRX /Xy <¥) 0590 a1 50 £x,,x¢ (%y,%y) ={

b g5 Gyge 4 Xy g X olal 5l pice plyy Jlzo! JIRe gl aiS o,
X, +Xy, °o <X, <}, o< Xy <\

’ bl e
Y 0 4

Yo L = s
YY Yf Y « v ¢
b ol ply p(X>Y)aL{iT..\.:..:.Q(iid)ol...&:_&},:h,ﬁ:.ugowﬁj.u,oY,X;I
V(Y o (\
S0 Y 9 X a5 4y (Ko (F Al 4

Y

A I U gty Bl yaisa S 0 T (il 03l 58 (guilSe rat 90 S Blhn 31 (6906 Loyl Slax @S g (5,8
T loj 03l 19 00 4385 b s 2Masi (eRilin 3368 WSKE Junogil 0 51 P Jloio! b Witamo ogunlSis paryp0 551 el

b Sl iy

AT
prof pT v pAT (v PA O




ww\wRedowrtoadiT

f‘aﬁ.@

AR IR S T 1)

P.

16Q

AAA

Sownl judar T Gl Sl oud 0010 Jolis 31y 5o oled yj JSb soalin jlue 5o
VAQ
YA

\
- 32v - A
Y

VVy

AAA

lA(f
¥

Sy polie U S poki 4957 Gy Jle 09d AR Cull B jlodie g digdh iy LiCaoglia plaT wlS ()3 ilie JSD jlae po

WSS s aSLD

vy

\ 2

e s ¥ 0 By (F

2 < \
w3 Bi, &.vx{p> 2 L FYCTUER e S
- |y 3 Y
€s ) 3 ‘san:‘.,LE.. ﬁali- o:—‘a‘é O O":U‘; (f
3 oS Akl ks st b
ol f‘d’ ,J.,tﬁ.. ,JS& » sl odfo )L.La B [} A 290 Oy JOLM C.w,ua
I 30 YR+¥v
i YR -0 (¥
MWh A —O0A
<> 3c 'g \/YR+T' [\
RS i YSR+Y (F
0
OB
Tl plas Jilis JK& oo )0 Vi (o7, 5Ly
YO
'1‘0 ¥ (¥
2 ———o0 i\
0403 : &
e L4 A(F
" v, 1=in A\
=

:l!‘:“"‘}!‘)!J""‘C".‘-‘J‘i Ol «uwl oud 03l 3 JKI Hlow 50 N b3 S dakien

_QA(\
q

vu(V)
} “fa «
1.8 4

EA(\‘
\

13 1,(A)

iA(\=
ﬂ

B




WWV

1 L L
v Redowrtoad it

T 9) (NN 5l

Sl
||
>

>

W W
RS <
v, (53 I : ﬁ il
) RE SR
V‘VAv Av‘v‘f
5D
Zu®

¢ &

15 o s Mo 0l 59 3306 3105538 (1) 3l w39diegn )b oo o 59 £ 0 10 5 IS e

t
y -
—_—— Rcut \
fR ¢

t
\ -
—-—e YRCy(t) (v
R ® <

t
N
———e YRC
i e u(t) (v

Cansnd dgmilea J.!L; Ob-)? Cx‘ Vs (t) $99)9 C;-.:ob 9N (f
V(1) 56y wails 2 00 8C Comadg 43 1) aulS t =0 alind o Cudlo )8 ab Condy )3 (Vab e gly S unls 55 JS3 Sl ,0

Sl yipy t >0 gly
t

v
e d+—q
)

t
WOy
—e S 4+— ¢
c [

20 8(t) . S
C> ve +§ '\

—€

v
A+_(f
o o

St plaS T, (8) 0l 956700 518 loms Hlywe o 30 Jlto g 39 g0 ki £ =0 45 8wl Llie JS2 a0

(o f+Y,¥0t)e ™0 tu(t) (1
2500 —Yoo
s (ot +0,vv0t)e "ty (t) (v
1 1 -
79-0® =FIuF t=0 (e F+Yot)e™ " tu(t) v
" R (e e+ vvat)e™®tu(t) ¢
I
. , e dip, 4 +
S 58 yuo ) 035wyl Sy 9 Al autel Bl o ol yuiy o (CT) 3 Vo () 23 JKh e 50
10v, Y
\/> A== \V O
s€C
] A
1 P
¢ .t ~ T — AV
“(')C 1 2 : sec
Qe v, Y
mél _ A2,V
L sec
A\‘
-4 —, =y V¢

-8\

-av

~-of




1 L L
v Redowrtoad it

T 9 oK 550 slaylowe
Sl 550 Wiz (Lyp ) b aa w90 5l0ud oasd Jolro Gidu o JSi e 40

O— 2:3 — (\
o A1)
q

L:» 4H 3H ;f- (Y

)

o— 42
b M=1H ‘\l

— (f

Tt iz M Jilize S gl cap b sl ol yioo b iyt Z 5 31 (6008 walo o 3l 393 U5 e 5
R'C
L,+Ly ,
Y
L\Ly
R'C
LyR'C

L,

\l

(42

$39d 00 25T 3 38l 50 Lawgzo ole Rl ag oljl 4y Jylhie JS5 Hlas o

Q)
220 10 Yy
R 10 q(r

Cost =IF
1 VEYY

) YOKVAR 5 YO KW olsi Zp,, Jl idud Juog 515 S0 ilhao aKed o 4 s5ls0 sob & Zp,y, 9 Zpy « Zp, ok 4w
WA ol s LN KW oly Zy, o )b a8 gn i oA Sy oly7 s b 1500 KVA ol Zp o 5l iS00 i
Tl plus b U5 o)lei Gag pud 005 0

T ] e

\o

—‘ﬁ|4

it ¢

3 M

(¥

- =
o

o l Sl

v

A3

\o

T
ol plaf Julie JSB Jln b s il 13
o Y=Y o=\ (A

5

Sy ¢ (f

<
<
<
>
>
>
<
>
>

WA \ \
—— ===\ (Y
) Y

L
AAA
vy
<
{
4
S
ey
AAA
B'
0
<
«
(=)
L}
IL
I
M
le +

\
- m— (Y
Y

P




WWV

1 |
- Redowrtoad T

Y anio Y91 &S5 sl

. . . v,
PEIY 2o el laits b ales oyl ) S = £ T o H(s) = T S U 0l b il s jlae Sy 50
s

Sl Canryd jlae opf yo Ol A .l aliss aiio oy dad

L PO IO PP S Y «W$99,9 &2 sl 4 e (O

3 VTR RN PY 'G"’\' V=Y L g sl e e (Y

P DY GuilS L pmpia ol > &b H(E)) =0 b,s 4 ig =cost il 4 Skt (Y
DR D= Gl B g sath Sl Al H(j) =0 L5 a4 ig =cost ljl el (F

Tuwl plus Yyy omitiaos! .ol ol kil pj sl 4o 2h8 90 S dakda Vol
s +Es+v
[ — o S+4
@ N @ @ N @ @ N @ @ N @ ﬂ.__ «
O—szﬂ ——o o—o| o s" +55+A
SRS s+5=0 s +2546=0 8 +6s+8=0 s+6
s +Ys+5
Y
S +F5+A
— (f

s+0
Cwd a4y lg, =Y+ Ycost 9 lgy =) Gl ies anl gl 09N 9 by o2 g (b5 Raglis slaylae Ny s Ny 55 e 50

fowl Oly iy goal ¥ Caoglio Jawgsa (led is‘, =cost 4 is\ =0 ¢lp. v=A+4cost M)’Tu‘

AMAr \ Y
9 - (Y o
50 N, jv aQ is, N, %:39 ()l,I =1 P ( ” ¢
f
ig; =2+3cost 4\ Al
. . . Yos [V
e Q S (o pi cobl 10 Canglin & 1) a8 90yl ol Z = s' +YA[‘ ‘:I owilagal 5 )20ty i yilo g1yl N had g0
1 2 '
Nuiss 100 b (Y v
g——‘ \
— (f Yo (¥
[\
/\"\ ?an‘plaquu“}&.ﬁw_uhi,oﬂQﬂgbgbﬂ',kw;b
A Moy
. N L q
o—lr—eo—-G >—e * 1o [V T
* a1, * Vool
Y
(
v, [\‘ Y
v, 3 =
Y, v, A o
1 :\ Y‘:
= - Yy o
o— ® . o (f
-\ T—
. . fowl plus Jolio ISS oadad 90 Z (sl oyl s ilo
ot A o YO L AL
2 * - (\' - O
3 s, S0 Ly ar Ly )
\/ 'Yy VWYY
A\ | : _\. (* - ¥
03 31,<> s SRR LT A
- 1Q -
o— AV )

-\

~%o

4l

-y

-#f

-#0




WWV

1 L L
v Redowrtogd it

VYA (T ad § il AS e T N aal€

(\Yc\)éhmgéjwwwa\ﬂyégjs

AR

Y ) nl | Y N ¥ 1
¥ Y \ I X lr Y Y
\ Yy Y Yy ¥ il ¥ v
v vvl Y Y¥ Y VP | Y ¥
Y re] | ¥ va] | ¥ '8 Y )
¥ r?| [ Y K \?l | Y #
\ rvl ¥ Yy l Y Y \ Y,
¢ m| Y TAJ l Y YA \ A
\ r4] ) Al \q Y 3
¥ v Y o [ ) Y. ¥ Y.
Y m][ ) T

) ovjit v FY

1 ¥ arm[ Y fr

¥ 1A Y M’I | v FF

) Y \ 20 l_\' fa

v Al ) a7 |——T 7

¥ &l K avH| v Y

\ ?0“ ¥ oAl Y FA

Y a4 Y ¥4

Y %4 \°" O

www.sanjesh.org




WWV

L L
V.REUIUWIIIUdU.II

VA Tl ad L il 3K cvae 1 eV aa aiE

\YAe dhﬂ)‘wm_)\so;aj]@y‘yg‘,l.\#

(YY2)) 30 dalidinly (31 ( udiga Ao pane OV gus 2lS

\ r\]l \ \'\| L ) K \
2 T‘\‘H Y YY { v w“ ¥ Y
Y V?H Y Y | Y \FH Y [z
¥ er ¥ YP | Y w|| ¥ ¥
\ rﬂ| Y Yo | v \a|| Y )
v Ye Y v~r| [ \ \FH ¥ $
Y ~rv| \ w| L Y \ﬂ K Y
Y m| \ YAH ¥ \A]I 1 A
¥ rﬂ Y Hl L v WH ¥ 5
Y fj Y r” ¥ TI | Y Ve
¥ vx“| ) ?ﬂl Y ﬂ B £
2 VY | Y ‘f\'l | Y aw| | ¥ Y
¥ vl ¥ #v] | ¥ m*| [ \ fr
) vﬂl Y ¥ | v M"JI ¥ ¥
Y va] | Y 0 | ¥ ao] | Y 2
¥ V‘FH Y ‘P‘?H v b?“ \ [
¥ W] | ¥ ?V] [ Y oVl Py
¥ Vﬂ L Y ?AH ) K ¥A
Y vﬂl ¥ ?ﬂl Y 24 l ¥ 4
Y AIJ“ ) v|L ) ?IJ" Y IR
Y 43 L ! A

3 w] [ AY

Y wll T AY

¥ ) a¥] [ AP

v v ‘\a“" ¥ AD

\ ¥ apfi v A?

Y Y W[ [ AY

v 3 Wit f AA

Y il A4

\ \uu Y 9.




